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|Ug - A /| SECTION - A

as W9 / Objective Type Questions

gy wEAr 18 saaﬁaﬁﬁsa’m?fsaﬁ#ﬁﬁ?mwﬁwaﬁ?ﬁ?:
mmiwwﬁmﬁvwf?ﬁﬁﬁ#wwﬁ?r g+ gRT I
wnﬁf&mﬁomsﬁzw%ﬁﬂﬁﬁf 40 x 1 =40

Question Nos. 1 to 80 are of objective type. Answer any 40 questions. Each
question has four options out of which only one is correct. You have to mark

your selected option on the OMR sheet. 40 x 1 =40

1. it % uREed % o R T 1 HEE §
(A) RBC (B) WBC
(C) T Higeho] (D) TH ° g
The component of blood responsible for transporting oxygen is
(A) RBC : (B) WBC
(C) Blood platelets (D) All of these

2.  wmEg gl e ke e 2

(A) ARK ATA (B) GIEC ARG E]

(C) ifesE oo (D) USAA GE
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Vermiform appendix is a part of
(A} Alimentary camal (B) Nervous system

(C}  Vascular system (D) . Reproductive system

3. WM S 3T e w1 oofy 2

[A} T (B)  STEAHHA

(C) EEATEEA (D) SRR
The movement of shoot towards light is

{A)  Geotropism (B)  Hydrotropism
(C} Chemotropism (D)  Phototropism

. ﬁmﬁaﬁﬁmmwmmmﬁm%wﬁ% 2

A) T | =
/ .
q (€) I TF WM (D) 9 9§ % =&

-

- aTe -

I".I't!:f_l_r_ B ..—_"_ i "



I_;;"I

e ® FUel ATl ) we e &

(A) 12 St B) 31

(C) 24 SIS (D) 10w

The number of cranial nerves present in human beings is
(A) 12 pairs {B) 31 pairs

{C}) 24 pairs D) 10 pairs

sfeass =1 Si-31 9 d 7Y wEe & s € 2

(A) TE-Affass (B) IAT-ARTS
© ¥a-AitTH @) T ] wE

In which part of the brain is the centre of smell recognition ?

(A) Mid-brain (B) Fore-brain

(C) Hind-brain (D) None of these

[212]
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7. W9H HITEE 99w YFe w1 Feendl &

(A)  BEES B) HA™
(C) HIgs 9% % =0 | |

ﬁppearan:ce of first menstruation ig called

(A) Menopause (B) Menarche

(C) Menstrual cycle (D) All of these
8. ﬁﬁrﬁaﬁaﬁﬁ#aﬁqyﬁwmﬁ%mﬁqﬁw%% ?

(A)  <heTH T | (B) I FHeiH

(C) HeAT-sEYA {.D} = F |

Which  of the following is a method of artiﬁc:ial vegel




10.

o1 =7 faega-ges 561 &

(A) ST BRI SIS ATEYT UL SAET AT e

(B) Tavsiay

(C) O BT IS TSV uT A T

(D) 39 ¥ iz T&l

Electromotive force of a cell is

(A) the force exerted by the cell on unit charge
(B) potential difference

(C) the work done by the cell on unit charge

(D} none of these

e o W )
I

oiifEatas a9 5 Sl 1 uge gar &
(a)  UFfEEiE (B)  SEfeEiE
cy TR (D) =i

The flow of energy in an ecosystem is

[212 ]

(A) unidirectional (B) multidirectional
{C) bidirectional (D) cyclic
21 32-(46/50) Page 9 of 48




12.

13.

3TEIYT &1 S.1, AT ¢

(A)  FHH (Q) (B T (C)

(A T B SEEm

(C) UHER (A) (D) EE (V)
The S.1. unit of charge is

(A) ohm (Q) (B) coulomb (C)
(C) ampere(A] (D) wvelt(V)
=Yg T =e A9 WH-AT 39 FEHA §

(&) ﬁazﬁéﬁaﬁaﬁ (B) T FH FEGH F

(C) et BIET IEISAT I (D) e Fg e H
Eve with farsightedness can see clearly

(A) near objects ' (B) far objects

(C)  only small things (D)  .only big things

frer | BE-E ST BT W HHT 6 AR Tol e ?

© T (O) A




14.

15.

[212 ]

Which of the following energy sources is not a derivative of solar

energy v
(A) Wind energy (B) Biomass
(C) Geothermal energy (D) Nuclear energy

fomg URT % S e W @t feeA T a2
A)  HR B) U
€ ®R (D) &S
—_—
Who discovered the magnetic effect of electric current ?
(A) Faraday (B) Ampere

(C) Bohr (D) Oersted

fae=t &1 fewnies aftaret o weTeEs ®iswg g3 Bl €

(A) I A i (B)  I¥ieT JUUT I
(C)  FFETA TUIT B (D) (A) 3R (B) &I

In the coordinate sign convention, the focal length is positive for
(A) convex lens (B) convex mirror

(C) concave mirror (D) both (A) and (B)

mnm Page 11 of 48
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16. ﬁmﬁrﬁwﬁﬁmmﬁwmwaﬁﬂaﬁﬁﬁgﬁ-wm
BT ¥ 2

(A) hael FOTEE i T & HROT

(B)  wAEY Ud smomEy g4 & fagda few 7 nfadt & s
(C)  helel YATEYT i Tid o HIIT

(D) 399 H i @l

Due to which of the following reasons an aqueous solution of :

T

common salt 1s a good conductor of electricity 2

(A) The motion of negative charge only

(B) The motions of both positive and negative charges in opposite
directions
(C) The motion of positive charge only

(D) None of these

17. i & - s e gEeE @ 2

(A) FERH (B) UFR
(C) mﬂ' (D) HEHET
3132 96750
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F (212

Which of the following non-metals is a good conductor of electricity ?
(A) Chlorine (B) Graphite
(C) Phosphorus (D) Sulphur
o wfwadr S § Frefetad § S e st i ug ¥ 2
(A) Na (B) Cu
(C) Au (D) Hg

Which of the following is the most reactive metal in the reactivity

series ¢
(8Y . Na (B) Cu
(© Au | (D) Hg

119. I AT R 3T ST e € ?

(A) 20 = H (B) 22 g &l
)9/24 $i =l : (D) 26 $E &l

Pure gold is of how many carats ?

(A) 20 carats (B) 22 carats

(C) 24 carats (D) 26 carats

2132-F-B32/832(77/84)
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20.

23,

22

foiftee 3 RFE urg @t ST T gerRt TEd € ?
(a) wifeaw (8 ReEH

(C) ETHeA : Dy  H¥

Which of the following metals is kept immersed in kerosene ?
(A)  Sodium [EI daeuc it

(C) Tungsten (D)  Mercury

wﬁ?aﬁﬁaﬁﬁmﬁﬁmﬁﬁaﬁﬁﬁaﬁ#mﬁm% ?

(A) OH HAEA ' (B) H A=A
e
(C) H,O0 A™A (D) H,O" 3&E4

Which of the following is produced in aqueous solution of an acid ?

(A) OH ions (B] H ions

(©)  HZ0 ions O] H.o%sas
fr=Aifena # 5 Tt weet swer ¥

(A)  HF (B)  Hcl

() HBr e D) HL

[21 3-.5-1*14;501]




IS S 1 pH HIF Bl &

Which of the following is the strongest acid ?

(B)

(D)

(B)

(D)

The pH value of pure water is

SATE ?

(B)

(D)

frfeafeg § F19-91 9919 & Jeid oo i eug 93 & @ $51

(B)

(D)

2132-(46/50)
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An aqueous solution of which of the following substances turns bl '

litmus paper into red ?

(A} Acid (B} Base |

(€)  salt (D)  None of these |
25, Wm RS SR C.H, , ¥, ¥ fhe e waEad dva € 2 -"

A 5 | ® 4 |

< 3 D) 2 )

y |
How many structure-isomers are possible for pentane whose

molecular formula is CgH, , ?
&) 5 ' B 4
lC-l 3 D) 2
26. WWW%%{TH‘*’(EW% 2 -

(A) 3 B) 13

< 4 - D) 14

Carbon is a member of which group of periodic table ?




(A) Hizr | (B)

(©)  SEEE H Har | (D)
/

Goitre disease develops due to

(A) obesity (B)
(C) iodine deficiency (D)

28, T8 HEA: 9 A @

(A) TS WX (B}
o
(©) T W (D)

Stomata are mainly found on
(A) roots (B)
‘() stems (D)

50 TEETY OIS % IUHTU I Fed ©

=T T HET o

6 I HE 9

lack of sugar

lack of blood

gfagl 97

=18 | =i @l

leaves

norne of these

[ 23]

(A) TRHERY (B) TR
(€)  WHRX o) e
[2132-(46/50) Page 17 of 48
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The device for measuring blood pressure is called

(A) stethoscope (B) lactometer

(<) ammeter (D) sphygmomanometer
THUTERN W ST 9 S & 2

(A) = (B) IS

(C)  THIHET (D)" U

What 15 found in anther ?

{A) Ovary (B) Corolla

{C) Gynoecium (D) Pollen grains
SR s LT EEr

(A) =0 (B)  ©ed

(C)  &oehT Hlen - (D) &&= den

The colour of lymph is
(A) green (B) red

(c) light blue (D) light yellow

[2132-(as/50) Page 18 of 4
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33.

(212 ]
ﬁr;:{iﬁaaﬂ 3§ o uw St sl g § 2
(A)  ERITS @)  dfed He
() TSl (D) DDT
Which among the following is a non-biodegradable material ?
(A) Paper (B) Sewage
[C) Wood (D) DDT
wifer drer &1 a9 F e ?
(A) NaHCO, (B) a,C0,4.10 H,0
(C) KNO, . (D) CH,COOH
What is the chemical formula of washing soda ?
(A) NaHCO, (B) Na,CO,5.10 H,O
(C)~ KNO, (D) CHL,COOH
fonifera & | 19 3197 & ?
(A) Cu (B) P

(C) Fe (I2) N1

2132-(a6/50) Page 19 of 48




Which of the following is a non-metal ?
(A} B Cq s P
(C) Fe (D) Ni
35. Hfcwaw =1 oEm] dE w2
Fric R B) 18
(C) 20 | (D) 25
What is the atomic number of calcium ?
(A) 12 (B) 18
) 20 D) 25
36. ﬂ%ﬁaﬁaﬁﬂwﬁﬁmﬁaﬁﬁ@ﬁmﬁ% ?
(A) 10 (B) 9

€ 8 o 7

How many groups are there in the Mendeleev's periodic table ?

(A) 10 (B) Q

(€) 8 (D) 7
2132-(46/50)
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76. TSR iaget wie sven sy | Gaifed g8 @ geataEi &
w ® R
(€ H o) %

77. TEH AT W1 =T Fel g1 Al ?

() TR S (B) TEHFHH
(C) 2RI AW TiE H (D) SRRl A T |
--'//

—g ‘Y TS % ol i 6 2
(a) o= ___'[,Ef-l |t 2w
(:;"] - @ = (D)  UHFST TTHEH

ag. ‘ufmEe Zten’ T wEl e ?

() e H () I wEw A
/
() WA wRw T (D) T o
3130 sss0)]
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80. 'saife qEufEE ... tfa 1 e e =t ofa afaa faseg & & |
(A) (B) N
© wey (D) e

B1. DY & Wad® g &

(A)  TIEH ' (B) A
z:”/
(C) =G D) fage

82, Sy Fw g A & 2
(A) =i (B) Fafa:
(cy T (D)

83. ‘B + d9Y | HIH-W 9T /4T 2

(A)  ErEEE B)

(C) I (D) ErE
84, ‘srvgEy’ feEawl A R 2

(A) T /)B] AEYE

(€ FUsHiE (D)  g&A

Eﬂ 139-(48/50) |




spherical mirror is this ?

Concave

(A) (B)

(C)  Both (A) and (B) (D)
| 42,  HEae gUUT g1 =T Afdfes giar &

() A (B)

€ (A BﬁT (B) ST (D)

The image formed by a plane mirror is
(A)

Real (B)

(C) Both (A) and (B) (D)

43. TrerafEe o @ g00 g9 S € 2

A T eaa y

(D)

Convex

None of these

None of these -

u L

1
f

74 | whig el

f212]

The focal length of a spherical mirror is + 20 em. What type of

2132-(46/50)
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Which of the following is the mirror formula ?

a4 L=t R
(C) j}- - % —% (D)  None of these
44, Tod THaH SO GRT AEE BT &

(A) +1 | (B) =1

(C) D) =AY | Hig FAEl
jl:'lagrﬁﬁcaﬁnn done by a plane mirror is

a0 w1 : B -1

(©) zero (D)  none of these

35. frefefea & € e sdw g Todl axg @1 swrEl wiafsa e

q&Har & ?
(A)  EHAS I9UT @ yﬁﬁmﬁ
(C)  rEaer 59T | ™ FH | e

In which of the following mirrors, can a virtual image of an object be

obtained ?
(A) By plane mirror (B) By convex mirror
(C) By concave mirror (D)  All of these

— C it

| ﬁ Igﬁ"“a"“} = P ;.:




[212]
o

46. Wmﬁwﬁm%ﬁﬂuﬁmwﬁm% ?

(A)  TTECH B)  HATEA
E (©) iU (D) T W L T
| i
L

The blue colour of the sky is the result of which Phenamcncn 7
(A) Reflection (B) Refraction

(C) Scattering (D) None of these

47 Tocer T @ g e H St g8 fRToT HS SR €

A s B) e ¥

ot sfei &% | ot (D) Eﬂﬂ_@ﬁéﬂﬁ

A ray passing from a rarer medium to dense medium bends

(A) tnwa_rds normal (B) away from normal

(C) coincident with normal (D)  none of thes=

2132-(46/50) Page 25 of 48
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49,

50.

Frafafaa & @ fea ofg & wiea o v @t & 2

(A) a‘ﬁ'—*r LS B) HOaEA-AGdA Ad
(€) HHEae &" : D) = | BrE
Which of the following lenses has positive focal length ?

(A) Convex lens (B) Plano-concave lens
(C) Concave lens (D) None of these

&g pH BE Fen faaga gad Hius. ey g 2

(A) pH=5 . (B) pH=10

(C) PH =11 (D) pH=3

The solution of which pH value will be most alkaline ?

(A) pH=5 : (B) pH=10

(C) pH=11 (D) pH=8

A I &1 TTEERAd AR

(A) A B) _ Hfewam wggeans
(€) el g (D) Ffega s




[212 ]

The chemical name of lime water is

(A) Slaked lime (B) Calcium hydroxide
(C) Quickhime (D) Calcium oxide

51, Pryifase 1 |rer U9 &1 G T & 2

(A) CaCl, (B) Na,COj

N
"

=
(C) NaCl (D) NaHCOj4

Which of the following is the formula of soda ash ?
(A) CaCl, (B) Na,CO,
(C) NaCl (D) NaHCO,

5. Taited o S el ed S gH 2

(A)  NayS0,.10 HyO (B) NayS0,.7 H,0
o T
(C) Na,S0,.5 H,O (D) Na,S0,.2 HyO

Which of the following is the formula of Glauber's salt ?
(A) Na,S0,.10 H,O (B) Na,850,.7 HO

(C) Na,S0,.5 H,0 (D) Na,S0,4.2 HyO
|_ 2132-(46/50) Page 27 of 48
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53. faifen o dyefaa gas @ & 2
(A) R B) A g
) e s o) forewa o7

Which of the following is a synthetic indicator ?

(A) Turmeric (B) Red cabbage
: |
(C) Methyl orange (D) Litmus paper ‘
54, Fritea § SE-81 95 fa ssen & et @ 2 {
(A)  HErEe . (,E’]/ a1 |
[C) HUEA (D)  HEer 1
4

Which of the following substances burns without flame ?

(A) Candle (B) Methane gas

*

(] Kerosine (D) Coal

55. 3aad | fa=fafaa @ s e & ? |

(a)  ErEgE @ faum } Telaia &1

() a9 (D) o0 | adt
(3132 warsor |




F (212]

Which of the following takes place in oxidation ?

(A) Removal of hydrogen (B) Loss of electron

(C) Addition of oxygen () All of these
56. W%éﬂﬁmﬁﬁmqa?ﬁ?Qﬂﬁﬁﬁﬁﬁ% ?
(&) SR @) wEE
(€  SEEeT (D) ¥ | I
Which gas is liberated at cathode in the electrolysis of water ?
(A) Ozone (B) Hydrogen

(C) Oxygen () None of these

57, e T @ faver mrer # TR T W SEAT ST (i20) AR

FaEAT W07 () T Y A € ?

(A) i>r (B) i
=1

Il
~

(C) - r=i (D) r=i=0

What is the relation between angle of incidence (1 #0) and angle of

refraction ( r) in moving from a denser medium to a rare medium ?
(A) i>r (B) i=r

(C) r>i () r=i=0

[2132-(46/50) Page 29 of 48




ss.  Friwies Faet afeadt & andt gt T et #

(A)  HhaT e W | "I
- _’_.,--'"'-
() " A D) 3 | wrE A

All distances are measured in the coordinate sign convention

{(A) from centre of curvature (B) from pole

(C) from focus (D) none of these

s9. Fr=fafas 7 | feg ag @ dter 8@ s a2 2
(A)  EF ; B) Fafesa

?/W (D) SEEH
A . "

= ‘Which of the following metals is solar cell made of ?




[212 ]
eI & wHa qiiay &1 wfaiy
(a) uftafos ==t &an & (B) W& @ & e &
(C) g Y 9§ I @ (D) T | e @
During short circuit, the resistance of the circuit
(A) remains unchanged (B) becomes very low

(C) becomes very high (D) none of these

( 100 W. 220 V ) & U% dScd & 18 100 v fayaiar swifua 3 &

wattes faega g et

(A) mﬁ- . (B) 1 A
(C) -15—15 (D) 3 Q=i e

A potential difference of 100 V is applied across a ( 100 W, 220 V )

rated bulb. The current flowing will be

25 1A
S ) b (&)
© 5A (D)  None of these

|§Tﬁ-ﬂlﬂﬂl Page 31 of 48




62, Taea a9 & fwemiz =1 gy BT &

(A) A (B) A
=
(C) e = (D) T W S el

The material of the filament of an electric bulb is
(A) nichrome (B) tungsten

(C) iron (D) none of these

63. WEHTS W1 “gATH A &
(A) 550 nm (B) 380 nm

(C) 100 nm (D) 760nm
The minimum wavelength of hght is

(A) 550 nm (B) 380 nm

(€) 100 nm 760 nm




635.

[212]

Due to electric resistance, conductors acquire

(A)  elasticity (B)  magnetism

(C)  thermal effect (D)  none of these
S AT wefEa Heaen @ &

(A) CFC - (B) DDT

(C) NADP (D) ATP

The chemical showing biomagnification is

(A) CFC | (B) DDT

(C) NADP ' (D) ATP

WH A FHE

(A) ST HESWOT B) et = fafrr o st

(cy GmoT (D) ST T uitEE

The main function of stomata is




[212 |
67. HHSH H CO, T Wiavd w1 & ?
(A)  03% (B) 003 %
(C) 0003 % (D)  0-0003 %
What is the percentage of CO, in the atmosphere ?
(A) 03% (B) 003%
(C) 0-003 % (D)  0-0003 %
68. UMl % I=A= 9gT™ &
(&) 2F= B) TiE
© = y T |
The excretory substance(s) of plants is/are
(A} + Tannin; B) Gum
(C) Resin (D) All of these
69. eTrEfafay Tei g1 OF &1 yigEor $i akEg weer &
(A)  SEARHZ (B) ETEETSN
©) e o) femtemfEiaa
f —
[2132-w6/50) Page 34 of 48




[212 ]
The process of purification of blood by dialysis machine is called
(A) dialysate (B) dialyser
(€)  cellophane (D)  haemodialysis
70. ARG H S SEEaT o 3I@OT 2
(&) e =i g B) 13w e
(). T w e D) T G =
Which of the following is an example of geotropism ?
(A) Growth of fruit (B) Growth of root
(C) Growth of flower (D) None of these
71. 9ol fEswida 3ewg FHean &
(A) S B)
() de D) =Y W
/
The fully developed ovary is called as
(A) fruit (B) seed
(C) ovule - _ (D) none of these
[2132-(46/50) | Page 35 of 48




72.

l'l.-_.-r

73.

[212]
() difern (B)  HGH
© uE D) T
Sexually transmitted disease’is
(A)  Jaundice .' (B) Chickenpox
(C) AIDS (D)  Plague
fp=fafaa § € &9 907 S ° 9 "t e 2
(a) TR /EB]//W
© FEgs D) 3 F wE A 3

Which of the following is found in pollen sac ?




F i (212]

74, TEifE § & $ omw e @ 2 o

A) e )  sEdEifas
---"'".rfi
(C) t{&lt_'ﬁ? (D) EHETAC S

Which of the following is not a plant hormone ?
(A) Auxin (B) Oxytocin
(C) Ethylene (D) Cytokinin

75. 3N W99 & A E

(A) SEOEET (B) g
.-"/—/—r-‘
(cy faEen (D) T | s

Which is a method of asexual reproduction ?

(A)  Sporogenesis (B) Budding

(C)  Fission (D)  All of these




[212]

76. WA A 3197 yam & fon fem oY = s fear am ?

(A) WX | = wH

-

(€ 7§ = D) T T

Which plant did Mendel choose for his experiment ?

(A) Pea (B) Gram
(C)  Wheat (D)  All of these
77,  Trsitea o § At Sy g w5 e’ s S 8 2
PG B R |
(© =l wifeT Hit (D) IR S HEe w5t ]

-

- Who among the following is called the ‘Father of Biology' ?
(A} Lamarck (B)  Aristotle
(C) Charles Darwin (D) Gregor Johann Mendel
78. HHA A | fepr orgEt &t g g &
(A) 1 B) 2

(<), 3 | D) 4

ﬁfﬁ*w 50) | Page




79,

80.

[212 ]

The human gamete contains ............ number of sex chromosomes.
(A) 1 (B) 2

(C) 3 o 4

1Y GRS =i Wty Afafmar gedt ¢

(A) TR F T H B) SRR % we

(c) =i e (D) HESERgE H

Light reaction of photosynthesis takes place in

(A) Stroma of chinmplaét {B) Grana of chloroplast

(C) Cytoplasm (D) Mitochondria

TS T IEed o SeE w9 8 HuEa gl 6

(A)y  TEmETT H (B)  HFAefE H
i
(C) FFPIYH (D) HAEE H

Urine produced in kidney is stored temporarily in

(A) Urethra (B) Ureters

(C) Nephron (D) Urinary bladder

| 2132-146/50) Page 39 of 48




WUE - 4 / SECTION - B
wifas® v / Physics

g IAIG UIH / Short Answer Type Questions

guestion carries 2 marks.

1. AfEE S @ g W= e 2
What do you mean by nuclear energy ?

fardt =rers &1 uferty fasr arat o i @ & 2




[212]

3 ofEy w1 & 2 uw fwet were w5 Eten & 2 2
What is defect of vision ? How many are its types ?

4 farege fovm &) oftarfes =% od gaer o1 s Ferdd 2
L~

-

Define electric potential and write its S.1. unit.

5. A S W FATERT S w=h R e € 2 2
- -"f-

- Why is a concave lens called a diverging lens ?

6 el A A g ST FA F A ? 2

What are the benefits of generating electricity from solar cell ?
7. urF & e aret faea wiEt w1 oyEefea S N ek 2 2
Why i it necessary to earth metal casing electrical applhiances ?

8. SAraren tus ) wid wn & ? =

What are the drawbacks of fossil fuels ?
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e ﬁﬂﬂﬂﬁfhngﬁnmerqu"’“““‘
ovr waur o e 10 5 swiie v 1 ot 1 fret g wr 3N S BN
uy & e 6 siw Faifia &1 LaEhss

e of them.
Ouestion Nos, 9 and 10 are Long Answer Type. Answer ary o f

. 1 xx6=06
Each question carmnes 6 marks. '

9. e A5 % moe o uhEen @ & 2 e SmE Sl 6
What is the process of accommodation of human €ye ? Explain it.

0. Frae g ud sl g § fEY TET w1 ol 5E e @ ? =E 7w
& e 0 ey = | 6
Which type of iron is used n electromagnet and permanent magnet L
Explain the difference between both types of magnet. ']:l'

THTET YIST / Chemistry

i B

g 3WE WA / Short Answer Type Questions
e T 11§ 18 A% @Y IO #1390 ¥ T 4 uvEt & 3w € ueEs
& fao 2 3w Fraifea 20 : 4x2=8
Question Nos. 11 to 18 tre Short Answer Type. Answer any 4 questions. Each

guestion carries 2 marks. 4x2=8

11, fa=ifen sfufemal 9 sgafsa oo sveiga @9 o wet S gw==

i) 4Na(s)+ O, (g) » 2Na,0O (s) .
@) CuO(s)+H,(g)->Cu(s)+HO(1) y




(212 |

Identify the substances oxidised and reduced in the following-

reactions ;
i) _ 4Na (s)+ O;(g) —» 2Nay,O { s)
i) CuO(s)+Hy(g)—»Cul(s)+H,0(l)
12. o ¥ ayqafeata § aver w1 sEeR STl W @ #e & 2 2

-

Why is the behaviour of an acid not acidic in the absence of water 7
13. Uowles s wEhiE A At sl faergs | seoitg T 991 wRtEE =@
F g
HHE ? ; 2
Why do the compounds like alcohol and glucose nmot show acidic

property in their aqueous solutions ?

14. T @ O0Hd & §HG JRA & we o Harn e 3 & owe w6

A |G ? 5

While diluting an acid, the acid should be added to water and not the

water to the acid. Why ?

15.0}ﬂ=‘iﬁfﬁmﬂﬁ‘lﬁﬂﬁmaﬁmﬁ#? 2

How is an alloy made from gold 7

S —.
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17.

i8.

[212]

Show the electron dot structure of carbon dioxide (CO3 |-

s |
FUHTHE 91 ¥ 2 IO F | (@d 2
What is detergent ? Give example. T

AT RO % w1 SEd e G smad @ § 2 I @A ford | 2

What are short and long periods of periodic table ? Write their

number.

& =T weT Long Answer Type Questions

Oy 9&HT 19 09 20 J14 Iwiw &1 3AH & fFwt v &1 Ivv 71 OhE 0T
& e 5 o Frerffiar &1 1x5=5

Question Nos. 19 and 20 are Long Answer Type. Answer any one of them.

Each question carries 5 marks. I x5=5

19.

GrArhRoT | M F FHAG € 2 WA H | TE AT | Ry

g ? 5

What do you mean by saponification ? Explain. How is it different

from esterification ?
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et wditerm g & 2 feifeE wEER & wA-H g A

20

gdt & 7 5

280, + Oy —» 280,

=

What is a chemical equation ? What information are obtained from

the following equation ?

250, + O, > 280,
wta fasn= | Biology
®9 IAE W9 | Short Answer Type Questions
v @EaT 21 @ 28 7% Y IANE &1 §FAH @ fEE 40T & IAT T 1 UEw
v & farw 2 3% fFraffea g1 4x2=8

Cuestion Nos. 21 to 28 are Short Answer Type Answer any 4 questions Each

que?!mn carries 2 marks. e
21, AT 59 1w FEE 7 .
What is the function of umbilical cord ?
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22,

-

23.

249,

2.

26,

27.

Z

[212 ] f

m T:Fﬂi' 7 2 '

What is heterotrophic nutrition ?

werrdt ey Fawednedt giwor F = e € 2 S
‘u‘:hal. is the difference between autotrophic and heterotrophic
nutrition

T ¥4 & 2 Tl m‘ o | 2-
What is villi ? Write its function.

i:rmi_‘ HTHIE W 3R s 9iHE =T E 2 2
What is the role of acid in our stomach ?

F T 7 THe E-U U2s Mg uiteea ¥ e T 2 9

What is blood ? Which component of it is helpful in gaseous

transport ?

gt = wfvarn £ | h

o~

Define hormones.
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28,  UHRTIW wvra fed wed ¥ 7 2
What is greenhouse effect ?

a1 I9dT 999 / Long Answer Type Questions

UyT §EIT 20 UF 30 A e &1 gE @ FEdt w w7 IAT T 1 AAF 99T

& e s s Fraffia #1 I1x5=5

Question Nos. 29 and 30 are Long Answer Type. Answer any one of them.

Each gquestion carries 5 marks. 1 x5=5
20 wsdt ot # fasem wfwar @ wias G99 L 5

Explain the fertilisation process in flowering plants with a diagram.

30. HIE | w=EA WhEEar &1 auiF H 5

Describe the process of respiration in human.
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